Name _____________________________________
Date ___________
Period     1     2     4     7

Measuring Matter

Sample Problem 10.5 – Converting Moles to Mass (pg. 298)

Aluminum satellite dishes are resistant to corrosion because the aluminum reacts with oxygen in the air to form a coating of aluminum oxide (Al2O3). This tough, resistant coating prevents any further corrosion. What is the mass of 9.45 mol of aluminum oxide?

What is the molar mass of Al2O3? _______mol = _______ g

	(Given) ________  ______

                 Number    units
	Ratio________  ______

           Number    units (desired)

	 
	Ratio________  ______

           Number    units (given)


Practice Problem 16 (pg. 298)

Find the mass, in grams, of 4.52 x 10-3 mol C20H42.

Practice Problem 17 (pg. 298)

Calculate the mass, in grams, of 2.50 mol of Fe(OH)2.

Sample Problem 10.6 – Converting Mass to Moles (pg. 299)

When iron is exposed to air, it corrodes to form red-brown rust. Rust is iron (III) oxide (Fe2O3). How many moles of Fe2O3 are contained in 92.2g of pure Fe2O3?

Practice Problem 18 (pg. 299)

Find the number of moles in 3.70 x 10-1g of boron.

Practice Problem 19 (pg. 299) 

Calculate the number of moles in 75.0 g of dinitrogen trioxide.

What does STP stand for?

What does STP mean?

At STP, how much volume does one mole of any gas occupy?

Sample Problem 10.7 – Calculating the Volume of a Gas at STP (pg. 301)

Sulfur dioxide (SO2) is a gas produced by burning coal. It is an air pollutant and one of the causes of acid rain. Determine the volume, in liters, of 0.60 mol SO2 gas at STP.

Practice Problem 20 and 21 (pg. 301)

What is the volume of these gases at STP?

a. 3.20 x 10-3 mol CO2


c. 1.25 mol He

b. 3.70 mol N2



d. 0.335 mol C2H6



Answer = ________  ______


	      Number    units











